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The equation of the plane passes through ezl Hl) (6 sradl Aslas
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Answer one of the following two items:
(A) ABC is a triangle in which A(2,3,1),
B(3,5,4), BC=(-1,4,0)
Find: (1) m(ABC)
(i1) The direction component of
AC in the direction of AB
(B)IfA , B , C are three adjacent edges in
a parallelepiped such that: A= (1,4,2)
B =(-3,21),C=(-114)
Find : (i) The volume of the parallelepiped
(ii) The height of the parallelepiped
drawn on the base determined
by the two vectors A B,
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The length of the perpendicular from (1 erev) Aazll (o 2 g yll 5500l) J sbo
the point (2, 3, 1) to the plane : o=F + 2 V- oV igsdl J
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Without expansion the determinant , POl T sl 16 5y
Prove that : o)
1 1 1 > o !
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In the Cartesian plane xy if 9 is the measure
of the angle between A andB ,

then 1A xB Il _ ...
AeB
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power of x, then find the ratio between the | 45! @ ADWN g

coefficient of this term and the middle term. | #5319 =31 1o Jalas o 4l
.Ja.w_;\l\

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead



YN YA aal yd ALatt - J9¥1 5931 - (A 3ulod ) ARIY) Al 1M Bkl g yimnd! - Aalal) Ay g3LEH Al yAM1 ALGH! BaLgs s Loncial

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s



TN YA aal sl ALalt - 3931 5931 - (et 3ulod M1 AR Al 1221 A g it -Aalall Ay 3L Al s ALG| B3l (yLonlial

Find the different forms of the equation of | &slas)  dakiadl sl s
the plane passes through the point (2, — 1, 0) | (¢ -¢¥) el Hldl g gl

and the vectort = 41+ 10j- 7k B VPVt = asadlly
is perpendicular to it . Ade (83508
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(1+ )’ = a + bw such that a and b are Cm W+ = (@+1) 813
two real numbers, then(a,b)=....... | =(o Py b ol glaas o P
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Find the different forms of the equation of
the straight line passes through the point
(3,2,—1) and makes equal angles with the
positive directions of the coordinate axes .
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Solve the following system of linear

equations using the inverse matrix:
2z—3y =7,y+5x =4,
x—2y—z=1
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